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Test ; Cplex bounds Complexi SRPV Difference
number | Scenatio N V  Instance Lowe? Tipper I“)A; 24 results %
1 A 5 4 1 3388 3388 0.0 3388 0.0
2 3 2 3059° 3059 0.0 3119 1.9
3 5 3 5656 5656 0.0 6122 7.6
4 10 6 1 3722 6758 44.9 7137 5.3
5 6 2 1975 6832 71.1 6811 03
6 5 3 4424 4719 6.3 5258 10.3
7 15 12 1 0 12343 100.0 12583 1.9
8 11 2 0 11479 100.0 11713 2.0
9 12 3 0 14309 100.0 14688 2.6
10 20 15 1 0 17869 100.0 18217 1.9
11 14 2 0 13358 100.0 14126 5.4
12 12 3 0 11626 100.0 11602 02
13 B 5 3 1 4298 4298 0.0 4454 35
14 4 9 4581 4581 0.0 4940 73
15 3 3 3903 3903 0.0 3903 0.0
16 10 5 1 6948 8192 15.2 8488 35
17 7 2 2972.7 9202 67.7 9202 0.0
18 8 3 450 10915 95.9 11434 4.5
19 15 8 1 3025 11064 72.7 11385 2.8
20 11 2 0 14996 100.0 14918 05
21 11 3 0 11853 100.0 12484 5.1
22 20 10 1 0 15714 100.0 15226 32
23 10 2 0 13001 100.0 13054 0.4
24 9 3 0 13074 100.0 13479 3.0
25 C 5 1 1 5880 5880 0.0 5880 0.0
26 2 2 3705 3705 0.0 3705 0.0
o 2 3 6685 6685 0.0 7140 6.4
28 10 3 1 0 8540 100.0 9435 9.5
29 3 2 9185 9185 0.0 9185 0.0
30 3 3 10870 10870 0.0 10870 0.0
31 15 4 1 5349 13200 59.5 13900 5.0
32 4 2 12238 15365 20.4 16215 5.2
33 3 3 11889.6 13605 12.6 14280 47
34 20 4 1 0 18560 100.0 17910 36
35 4 2 3380 15770 78.6 15055 47
36 4 3 5323 17045 68.8 17045 0.0
37 30 7 1 0 26525 100.0 24855 6.7
38 7 2 0 22520 100.0 22390 06
39 7 3 0 28605 100.0 24325 -17.6
40 D 5 2 1 66207 6620 0.0 6620 0.0
41 1 2 5820° 5820 0.0 5820 0.0
42 2 3 4215 4215 0.0 4215 0.0
43 10 2 1 9580 9580° 0.0 9800 22
44 2 2 12790 12790° 0.0 12970 1.4
45 2 3 10800 10800 0.0 12280 12.1
46 15 3 1 13424 14980 10.4 16095 6.9
47 3 2 13775 14605 5.7 16225 10.0
48 3 3 16245 17310 6.2 19215 9.9
49 20 4 1 4740 19505 75.7 18935 30
50 3 2 13429.9 15760 14.8 16545 4.7
51 4 3 9935.3 16585 40.1 18115 8.4
52 30 5 1 3660 25640 85.7 25710 0.3
53 6 9 0 27450 100.0 27945 1.8
54 6 3 0 25695 100.0 27280 5.8
Average 2.3
Standard Deviation 4.9

* Optimal solution founded.
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——Scen. A —f@— 5cen.B = Scen. C
EH—Scen. D —#— Average ool Fewly S| wo s las yuss (6) ISCe
N
8 e .o .o, .oa
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§ 3 ke 4 b abe 2l e ool bytie sl
-4 . Ll . - . s .
i S 5lBle s boaslie o golpiinn > by, o Slee
-8 —
-10 "53-“-"5"
Mumber of customers (N)
O e 31n 351 IS dao 3 ylre yuuk 16 IS0
00—  sssessesssesessess
80 /
B, —e— Complexity % +—Gap % /
€
. b0
€ 10
n
t /
a 20
g [ e A/ A
e AgA A m S A A A A A
0 —abdoeossaosass Ak ii‘:???‘?;;;:“‘?:i:i:‘:
"
20 L
Problem numbers sorted by complexity %o
CEPLEX 12.2 1381 0 15 &lga (32 5t U SRPV (0% 1651 2y W5 WA 450 17 JSUS
OBl 4 (SBI3y a0 £5504 Jgaa
CosT RATE (RLS
COST RATE TOUR LENGTH BREAK POINTS (BPs)(KM) (Re)
STEPS(S) Vi, Vs, ..., Vg Vg AND Vg
1 100 660 620
2 200 700 650
3 300 720 680
4 400 750 710
Ol e 5l Sy 2 dilg dpogew 1S Jg
Customer’s # 1 2 3 4 5 6 7 8 9 10 11 12 13
Demand 77 38 29 79 32 42 33 27 25 19 24 19 25
Customer’s # 14 15 16 17 18 19 20 21 22 23 24 25 26
Demand 28 22 33 43 24 24 17 7 13 8 10 12 17
Customer’s# 27 28 29 30 31 32 33 34 35 36 37 38 39
Demand 49 5 13 27 33 53 32 25 28 7 35 10 14
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1- Vehicle Routing Problem (VRP)
2- Traveling Salesman Problem (TSP)
3-Capacitated Vehicle Routing Problem
4- Time Window
5- Heterogeneous Fleet
6- Backhauls
7- Pickup and Delivery
8- Split Delivery
9- Multi-Depot
10- Multi Period
11- Open Vehicle Routing
12 Online Vehicle Routing
13- Mixed Integer Non-Linear Programming
14- Mixed Integer Programming
15- Constructive Heuristic
16- Salesman Rout Partitioning for Vehicles
17- Nearest Neighbor (NN) Algorithm
18- Dynamic Programming
19- k-opt exchange
20- Genetic Algorithm
21- Simulated Annealing
22- Complexity percentage




